Bolshevik Economic Policies 1918-29


	Background
	The policy
	How successful was the policy?
	Why was the policy changed?

	The Revolution had just happened.  

The situation was in a state of flux.  The Bolsheviks were not even confident of staying in power.

The Bolshevik strategy was to offer the peasants, workers and soldiers what they wanted without any clear forward thinking about the effect of this policy on the economy.

Objective:

Political:  the survival of Bolshevism – to win support for the Bolsheviks among the workers and peasants
	State Capitalism 1917-18:

- No clear direction. 

- To a great extent the   

   Bolsheviks were simply 

   recognising what was already 

   happening.

The policy involved:

Peasants: the Land Decree 1917 – abolished all private ownership without compensation.  Land was to be distributed to the peasants by land committees – this simply recognised what was already happening in the countryside.

Workers: factory workers were given authority to elect committees which would control industrial enterprises.

Army:  soldiers were seizing control of weapons and abolished ranks.

	It was not really a policy – simply a reaction to events in the early months following the October revolution.

This policy failed to solve the economic crisis that had been getting worse since the First World War had put such enormous strains on the Russian economy.

The Bolsheviks did not have control of the country – there was a civil war going on between the Reds (Bolsheviks) and the Whites (anti-Bolshevik forces).  This made it impossible for the Bolsheviks to introduce a coherent nation-wide economy policy.
	The economy was in a state of collapse.

This ‘free-for-all’ was simply making matters worse.  There was no clear direction or coherent policy.

The Bolsheviks were involved in fighting a civil war.  If they were to win they needed to introduce drastic measures e.g. to get food for the Red Army and to feed the workers in the Bolshevik-controlled areas.

They would have to take over direction of the economy rather than relying on private enterprise.   

	Background
	The Policy
	How successful was the policy?
	Why was the policy changed?

	For some Bolsheviks the introduction of War Communism was simply the application of Communist ideology.  Capitalism had collapsed and it was time for a new order.  

However, there were more practical reasons:

The economy was in a state of near collapse and drastic measures would be needed if they were to fight and win the Civil War.  

Objective:

Political:   the survival of Bolshevism - to help the Bolsheviks win the Civil War
	War Communism 1918-21:

Industry:  industries were nationalised and directed by the central government. 

Private trade was banned.

Hierarchical structures were reintroduced in the army and industry.

Agriculture: food was forcibly requisitioned from the peasantry to feed the Red Army and to ensure supplies for those in vital industries.  

Rationing was introduced.

	War Communism had succeeded in its political objectives of helping to win the Civil War.

However, War Communism failed to meet its economic objectives: 

The peasants greatly resented the forcible requisitioning of grain.  Peasants chose to kill their livestock than see it taken from them.  Food production fell – to two thirds of the 1913 figure. There was widespread famine – partly because of requisitioning and partly because of the collapse of the transport system so food could not get to where it was needed.

Industry virtually ground to a standstill.  Production in heavy industry fell to 20% of its 1913 level.  

Weakened by lack of food many Russians succumbed to disease – over 20 million died from famine and disease.
	It was clear that War Communism was not working and would not be able to cope with the situation post-Civil War.  

The unpopularity of the policy amongst the peasantry came to a head in a series of risings in 1920-21 e.g. rising in the important grain areas of the Volga basin, North Caucasus and Western Siberia.  The Tambov Rising in central Russia was a response to requisitioning and took 50,000 Red Army troops to put it down.

Pressure further increased with the Kronstadt Mutiny 1921.  This was a revolt by sailors at the naval base outside Petrograd – a group who up to then had been the Bolsheviks most loyal supporters and so could not be dismissed as ‘counter-revolutionaries’. 

	Background
	The Policy
	How successful was the policy?
	Why was the policy changed?

	The clear failure of War Communism.  

The Bolsheviks were in desperate economic circumstances and needed to make compromises.  NEP was seen as a short-term remedy.

Objectives:
Economic:
- To increase food production by giving peasants an incentive to grow more.

- To get the economy going again after the chaos of the Civil War.
Political:  

The survival of Bolshevism - to reduce opposition to the Bolsheviks and quell unrest, such as the Tambov Rising and Kronstadt Mutiny.
	New Economic Policy 1921 – 28:

Industry:  small-scale industries returned to private hands.  

Bonuses used to raise production in state-controlled factories.

Agriculture:  an end to requisitioning, to be replaced by a system of taxation which allowed the peasants to sell any remaining food at market for a profit.

No forced programme of collectivisation (collectivisation = making individual farms join together into larger ‘collective’ farms).


	The Soviet economy made a marked recovery.  Grain and industrial productivity increased (but not to pre-war levels) and the value of money stabilised.  

Living standards rose and discontent declined.  

The peasants, who now felt secure that their grain would not be seized, were more settled.  

There were fewer industrial strikes.

But not a total success….

It had served to put off rather than solve the problems of agricultural productivity.  While farms remained small agricultural productivity would always be limited, and this in turn would limit industrial productivity.

	Some left-wing Bolsheviks saw it as a retreat back to capitalism.  

Concern at the growth of  Nepmen – those who used NEP to make money.

Also concern that the policy was encouraging kulaks to make money by selling surplus grain.

Abandonment of NEP also linked to the leadership struggle in the party.  Trotsky had been opposed to NEP.  By 1926 he had been exiled.  Stalin now adopted Trotsky’s arguments to justify the replacement of NEP by the first of a series of Five Year Plans which involved..

1) rapid industrialisation and setting     

    targets for productivity.

2)collectivisation of farms, and 

    productivity targets for agriculture

	Typical questions:

A typical 8 mark question might ask “What were Bolshevik economic objectives 1918-24?  In which case you would focus on objectives.  For the Bolsheviks economic and political objectives were inter-twinned - economic policy was used to reinforce political objectives.  Economic success usually came second to the primary objective of retaining and consolidating political power.  As a result, economic policies changed to suit political needs.
A typical 22 mark essay might ask:  “How successful were Bolshevik economic policies 1918-24?”  In which case you would outline the objective, policies and successes and failures of each policy.  You would also try to show that while there were 3 policies in this period, the overall objective was always the survival of Bolshevism.
Another typical 22 mark essay might ask:  “How consistent were Bolshevik economic policies 1918-24?” This question is asking you to focus on similarities and differences.  You would outline the objective, policies and successes and failures of each policy.  But, as this question is asking about consistency, you MUST also show that while there were 3 policies in this period, the overall objectives were similar -  the survival of Bolshevism.

So, to be clear ….

For each policy, you need to know:

1. The background to the policy

2. The objective(s) of the policy

3. The name (and timespan) of the policy

4. What the policy involved – in industry and agriculture

5. The successes and failures of the policy – both in industry and agriculture (and make sure to have specific examples)

6. How, while the policies were different in detail, they all had the same over-arching objective – the survival of Bolshevism



